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Vocabulary

A.Match the pictures with sentences .one picture is extra.

1)This gives us an easier life when there is no light. (....... )
2)This helps us travel very fast to far places. (....... )

0.5

B. Match the words with the definitions. There's one extra definition.
1) thousands of (...... ) a) to grow or change into a stronger, larger or better form
2)develop (....... ) b)) a large number of things or people

c)to stop doing something

C. Fill in the blanks with the given words in the box. There's one extra word.

Invention deaf invent interested modern

Alexander Graham Bell is most famous for his (1)............. of the telephone. He first became
@)............ in the science of sound because both his mother and wife were (3) ......... Alexander
Graham Bell and Thomas Watson were ableto (4)................ the telephone. The first words
spoken over the telephone were by Alex. They were "Mr. Watson, come here, | want to see you

0.5

Grammar
A.Write the proper reflexives.
(myself,yourself,herself,himself, itself,ourselves,yourselves,themselves)

1. The cat broke the window..................
2. She did her homework. .....................




B.Choose the best choice.

0.5
1My aunt (wrote/ was writing ) a letter when h called her last night. 1....................
2. The boys were playing in the yard when the rain (was starting/ started ). 3....................
C. Unscramble the following sentence.
0.5 | 1.the key- scientists'-success-hard work-is-to
D. Make question using proper wh- question related to the underlined words.
Mobina was reading a book in the bookstore when I came in.
0.5 | Lo ?  (Mobina)
2 ? (abook)
Writing:
1 | A. Spelling: Look at the following pictures and fill in the blanks with the correct letters.
ﬁ:’r 14
HER Yl
rwgo pu sxpretmeni
1. Childreng.................. rapidly.
2. Studentsdosomee.................. in a laboratory.
B.Find two state verbs and two action verbs from the text.
Yesterday we heard that someone knocking the door .1 told, "he is Ali." but my mother thought that
he was my sister. We were surprised when we opened the door. We saw grandma after a long time.
1
state verbs action verbs
Lo 1.
2 2
C. Fill in the blanks which are in the table.
. Verb Noun
thinker
translate SR
knowledge
believe
D. Explain what were you doing when your teacher entered the class room. (two sentences)
Lottt ettt Rttt
2ttt RS Re SRRt
1




12

Reading:

A: Read the passage carefully and answer the question.

Who is a scientist?

The world around us is full of amazing things. Knowing this beautiful world is very
interesting for humans. One group of people who study the world are scientists. A scientist
studies nature, animals or people. Scientists work hard and do research to solve problems,
find facts or invent new things. Scientists learn about the world by observing and
experimenting.

Some scientists become very famous and rich. Many people around the world may
remember their names and faces. But this is not what they call success. They feel
successful when they solve problems and find answers to their questions.

Which one is true or false:

1.0nly scientists like to study the world ..................True 0 False 0
2.5cientists think success means becomingrich.............. True O False 0

Read the text again and answer these questions:

1 .How do scientists learn about the world?

Match two halves.
1. They feel successful, a. One group of people who study the world
2. Scientists are, b.when they find answers to their questions
c. is full of amazing things

Read the passage carefully and fill in the blanks.

Alexander Fleming wasa (1)............ researcher .He was trying to find a new medicine to
2)....... people's lives .He helped the first patient with penicillin in 1942.

1) a) different b) believe c) hard d) great

2) a)save b) quit c) solve d) seek

With best wishes

sohrabi
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